www.Padasalai.Net www.CBSEtips.in

ST R Qungis ey - 2019

< udlQemmeipmd U@GSUY Ly som
Cririd: 300 wenfl & enflgLb w Bl Gl ismiaen. 90
Sileyeny : 1) Simengg alenasgmn sfwrs ufand o aengn saugenen sfunisgs

Qansonayd. siFal ueiled GapuileLiiiar Henns &emianerfiuursTi_wb
e_L_anqunag Oglallamab.
2) s eag smuy mwullmer L @Cw ayginusdGU VuaETLUOSY
Cauesi(Dib. LL_missTt uemreugnH@ Gluaided LweaTL(HGsa b,
ug4 - |

SOy 1) e aflsutnégepéb i eflehL Liefldaaib. 20%1=20

10.

11.

i) Qar@asuuLL BrsiiE wiHL el seied Blaab sflwren allenL_amws
: Ca s ss G QL alenullenemub Cerggl s1pgad.
={(x,y) 1y = e* xeR} wpmis B = {(x,y) : y = e x=R} e1efled n(A"B) ererugy
a) b) O c) 1 d) 2
m emuuse QanemtL @ samsdlelmia N enlyse CanenL s savsEnG
mnUTSSUIUGWL widledE st seafler stamTsmisamas _
a) mn b) m c)n d) m+n
f(x) = f(x) = "_XJ- X|. X €R ererip srimlewr efsss0 )
a) [0.1] b) [0,») ¢) [0,1) ' d) (0.1)
x? — kx + 16 = O sttt sL068TLIML 1 687 ppRUEIGST A Lng)g;um b gyflwemeas a° + b* = 32 p flempey
Qe eredled K eor iy

a) 10 by -8 c) -8, 8 d) 6
kx 2 .1 S R |

x:2) (=)~ x+=2 T X1 eredled K e gy

a) 1 . b) 2 c) 3 d) 4

cos 1°+cos 2°+cos 3°+ ...+ cos 179° = 5

a) O b) 1 c) -1 d) 89

sin o + cosa = b erefed Sin 20 sv7 WAL

a) p< 2 eefadb?—1 b) b2 sefled b2 -1

¢) b>1 erefied b?— 1 | d) b3 eafled b2—1

e eraimp Qgm_fsd X° i Clap ,

a) % b) % c) - /s d) s

55 =1 aop Conlune wfldois Gsmess Qsnemee
11 57 -
a o B) 5 c) & d) -
Ox? — 24xy + 16y = 0 eeirp @rienLé CanBigsm X- a6 ﬂmu(agg]m Ganmr&l&m B,
oI 6, erefied tant, tano, =

S

9 16
8) 76 o) - ©) 35 d 5
A stetTLIg) (® F&IT Sievhl etetiled, LetTeumeusTeUDDIET 615 SI0FSTe060?
a) A+AT b) AAT c) A'A "d) A-AT

Ll

Kindly send me your questions and answerkeys to us : Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

(2) - Xl senfigs

12 a={42)+2K. |b]- 5 Cuogub & wipgh b 4@ BenL_ Gl (.. Ganewrid T aehied, @eised,
QaidL s siBSsO8s Lssmismak Qarani_ (PACaramg o Ly
a) 7, b % oY% . d9) 7%
13 i~ j-k k-1 Qﬂmﬁm&ghm‘r :
8) espadararg Amantunen b) sies ﬂc;iil_llu‘r
C) Qemigspren QaikLimsi d) gmzm QeukL_kseh
4 hemm o
a) 0 b) 1 c) J2 d) Beubfisd agyblesene
Um (1 2 3 i ) |
15. ( .......... - | =
n=x n2+n2+n2+‘ +n2.
a) % b) 0 c) 1 d) =
. d4aX .3
a) Ix+ (log 3) 3 b b) x* +log 3
c) (log 3) (3%) + 3x2 ' d) 3'x + (log 3) 3*
17. f(x) = [x = 1| + [x = 3| + sin X qeywb seiy R manmmmug yerfaciiar creniranfisens
a) 3 b) 2 o d) 4
18. y = |x = 1| sraitp snindpg X = 1 - D umasOay - :
a) 1 . b) -1 ' ol ¢ d) aumssblay Deienes
19. f(x) = x tan'x orafied find f'(1) - ag&nm‘m .
S R ST REY
20. esdewe sravrs : xl-—'»mo% '
a2 b % o1 90
ugd -l
7 Senisgnie clawsl (adam swwit 30 s L_mu alamr) 712;14

21 f:[-2, 2] > B aenp eainy f(x) = 2% aan aueonugaaiu@pg aalled | om CuhCarigsen
Sinwow B mé srets.

rx2'+x--5 5 ’e(—-ﬂ'}‘O)
f(x)—<xz+3*—2 L xe(3m) I
22 i x2 . xe(02) oo aumpugissiuge =3, 0 ylwehies f-ar
| -3 wHn Hkadied :
wiysmans srewrs, '

. 1. . .
23. |x] < 2 sefled 2ex) i qﬂﬂmu@aﬁm 4-cug & gy mvn«&a.

Kindly send me your questions and answerkeys to us : Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.CBSEtips.in

(3) X| senfigb
X - 2v = 0 womb 2x + Y = 0 sewm sefigsais snarurhisanerd Qsramr_. Car(pasiler
SrdsnsnThg FOTLNsHL& Shémis. Gogs Bkhs Brew(h GCanhiasnars updl s snd
ﬁ'wg}m’a? .
b-1 .2 3
25 3 12 SO waeduis Cananeu ienfl nelied b &t iy snewis.
1 _-2.4
2 oo T ] 2 -1
sec®0 sin“0 %an0 -cos“h [0 ] ,
A="""% B= C= aafigd A - B + C
[cotze 0 Losecze -1 j’ 10 e ap

SNETTS,

27. amwsds: sin'(3x—4x7)
28. ,:L_';"JO (é_t}i)' =e? aew Q@lﬁl&i&
29. f(x)=y1-x° ewwrp &miny [-1 1] stairp Gen_Cleuatlulled Glgm_narﬁu.mwg srew ﬁ@q&

30. f(x) =[x — 3| sredfied (2) mmud f'(4) o snewia. .

u@S - Nl 4
aaaCugui 7 omrdsense alenwefl: (alomswr 406!_1_.#?-’.! afkorr) 7x3=21
31. £R>R aam ey f(x) = 2x? - 1 Lo Tl mmu’mg&a&uu@ﬂw aefied, 17, 4 wpgud =2

SpFweunHie (e TIibUEISTE STes.

www.Padasalai.Net

24.

26.

32. 1 L = s nirdle ENTLSSDSE HN6WT 5. - :

33. NP, =720 m,r_r)ggjm nC, =120 erefie, 11, T @b sevTs.

34. 8, 8,8 isen 2, saTLen sl (B Qarit apeomulled @Wumnb a, (k>1) Sigew
@msa‘ﬂu.mm - 5@& Qsm_Ruwrer 3., @b sa_Hésrrefluns Bmasb aer Gms.

35. g GrrsGanuieg oHuieSmis ammuiLEL Cer@sdear b 12 WHDID X-BidsL T

; Rena Hersulied gnuBissib Canswrn 150° aeed, Camiqe5 eumrum_sm_& &SNS,

36.7+2] ]+ Kk HMD 1 +3] }+ 4K e1eitn Qleudsi e o_iten SengSliv G @Emwamm. ereieRTena
10/3 oL w QeusL ismens saenrs. | %

sinjx| .
X

BaDIS.

: ,

38 y= sm"x + cos"x sm"rlw mm&

39. 2 acar;_r; (P sewraefle 5mg,§lsb MR ewm Qgm_iny M-N s@ug 12-6r WKW e
~quepmumIsSLILIGeT R e1ain Qg niny swrens Glem_iny stem Blemi Vs,

40. ghés \/3sinx +cosx =2

ugd - IV
s s alanasensEh alenL wsissaub; L TXS5=35
41. a) f. g 1 R - R sdlw @@ sniysar f(x) 2x ~ |x| wpps g(x) = 2% + |x| e’

e nupss LG EAng) srefed fog £ B,

(g

Kindly send me your questions and answerkeys to us : Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

42

43.

44

45,

46.

47.

b)

www.Padasalai.Net www.CBSEtips.in

(4) X| semflgib

Siey snewrs | x* -4

3y

X“-2x-15

AiBe C = 7 oefled sin2A +15ih2B + 8in2C = 4 cosA cosB cosC 7 Hipisys.

(Svag)
3Y - 4 = 0 aeitn Briens Canasr Blepemrunesensy sTsrs
Can®semée @eor_ i BNTSMNGS snevtis.

4X% + 4xy + y? - fx —
SIL(BHs. Coeib Geielm,
ib+C 4a 32

| 2 |

c-a b bfi=(a-b)(b-c)(c-a)(a +b+c)

a+b ¢ 02 '

| e1em Elmieys.

_ o (veoevg) -

P06 &Ganems et mH&CanDas (W Ysiefuled sBSs@10 sren Hinieys.
[ x3 -1
-l Kx -1 5 ;

] 3 x=1 S ey (=00, ®) Bed Qg _ireflurengl sremssm (s

X #1

(yevsvgs))

X ]
X a@fled, (1+x2) y” + (2x=1) y' = 0 srems &1 (ha.

y =efan”

X G5 QUL eresst ersffied, Y2 + 25 —\/x2 + 9 =2 oen Ppieys.

(yedevgy)

: f 2
. - Lim V1+x%-x
wHUIH S : s TN

a=2i +i+ 3k LM mILD b=4i 2i+2k eI QeusL taems s, sine wHmIL Cosine
(B rewor e aism e & 5 615785

| (Sio0e051)
sin(ax? + bx + c) erermm srinfenem cos(Ix? + Mx + n) sweim snir ety Qlunmsey eusmaulBiss.

Kindly send me your questions and answerkeys to us : Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

